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QUESTION 1

Which VM configuration is compatible with DRaaS for VMware Cloud on AWS?
A. VM running vSphere Fault Tolerance

B. VM with physical RDM

C. VM with VMware DirectPath 1/0

D. VM with 16 vCPUs

Correct Answer: A

QUESTION 2

Which three items are required for a VMware Cloud on AWS HCX installation at the on-premises site for site pairing?
(Choose three.)

A. Distributed virtual switch

B. Administrative access to vCenter server
C. Public Internet access

D. vSphere Enterprise Plus

E. NSX Enterprise Plus

F. Functioning DNS resolution

Correct Answer:. ABE

QUESTION 3
A solutions architect is designing a backup solution for a customer planning a migration to VMware Cloud on AWS.

With which key feature must the chosen backup solution be integrated in order to be supported with VMware Cloud on
AWS?

A. VMware Storage APIs for Data Protection
B. Network Block Device Transport

C. VMware Storage APIs for Array Integration
D. vSphere Installation Bundle

Correct Answer: B
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QUESTION 4

Which two items are required during the on-premises deployment of the HCX OVF? (Choose two.)
A. NSX for vSphere

B. NTP service

C. Management resource pool

D. Local DNS server addresses

E. vSAN

Correct Answer: AC

QUESTION 5

What are two circumstances when it is appropriate to use HCX for workload migration? (Choose two.)
A. When backing up on-premises SDDCs.

B. When migrating from on-premises to Azure.

C. When attempting to deploy firewall rules between on-premises and the cloud.

D. When multiple (10+) VMs need to be moved within a limited maintenance window.

E. When the bandwidth available is a constraint.

Correct Answer: DE

Reference: https://docs.vmware.com/en/VMware-HCX/services/hcx-user-guide.pdf

QUESTION 6

VMware Cloud on AWS includes which two of the listed NSX-T networking constructs? (Choose two.)
A. Tier2 Router

B. Tierl Router

C. TierO Router

D. Edge Services Gateway

E. Distributed Logical Router

Correct Answer: CE

QUESTION 7
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A customer wishes to deploy a new application on VMware Cloud on AWS. This application will consist of several web
servers and application servers. The data on the application services needs to be backed up regularly and backups
must be stored outside the SDDC to meet compliance. The backup solution should be able to support full VMDK
restores as well as file restores. A recovery time objective (RTO) of 5 hours is required for backups up to 30 days old.
After 30 days, the RTO of a backup is 48 hours.

Which solution will meet the requirements more efficiently?

A. Deploy a third-party backup solution from a supported VMware ISV partner. Store backup jobs to Amazon Simple
Storage Service (S3) or an Elastic Compute Cloud (EC2) instance with an attached EBS drive. After 30 days, migrate
backups from S3 or EBS to Amazon Glacier.

B. Deploy a third-party backup solution from a supported VMware ISV partner. Store backup jobs to the local on-
premises SDDC, and once the backups reach 30 days old, transfer these backups to tape libraries.

C. Deploy two SDDCs in two separate regions. Set up Site Recovery between the two SDDCs and configure vSphere
Replication to take snapshots of the virtual machines every 15 minutes.

D. Deploy an SDDC cluster in stretched mode expanding across two availability zones in the same region. This
configuration provides the lowest RTO possible.

Correct Answer: A

Reference: https://d0.awsstatic.com/whitepapers/Backup_and_Recovery Approaches_Using_AWS.pdf

QUESTION 8

What are two primary differences between an Elastic IP address and a Public IP address assignment? (Choose two.)
A. A Public IP address assignment is associated with an AWS account.

B. A Public IP address assignment could manually be attached and detached from an instance.

C. An Elastic IP address has a cost associated with it.

D. An Elastic IP address assignment is associated with an AWS account.

E. An Elastic IP address assignment will be persistent during the Stop/Start process of an instance while a Public IP
address would be dynamically reassigned.

Correct Answer: BD

It can be assigned to any network interface, which can be attached or detached from an instance.
An Elastic IP address is associated with your AWS account.

Reference:

http://jayendrapatil.com/aws-ec2-network/

https://docs.aws.amazon.com/AWSEC2/latest/UserGuide/elastic-ip-addresses-eip.html

QUESTION 9
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Hybrid Cloud Extension (HCX) supports which three of the listed services within the platform? (Choose three.)
A. vMotion

B. ESXi host patching

C. Layer 2 VPN (L2VPN)

D. Route 53

E. Elastic Load Balancing

F. WAN compression

Correct Answer: ABF

QUESTION 10

Which Native AWS construct are third-party ISV partners able to leverage for data archiving within the data-protection
service?

A. Athena

B. Glacier

C. Kinesis

D. Cognito

Correct Answer: B

data-processing application on Amazon EC2 and uses Amazon S3 and Amazon S3 Glacier

Reference: https://aws.amazon.com/solutions/case-studies/all/

Latest 5V0-33.19 Dumps 5V0-33.19 VCE Dumps 5V0-33.19 Practice Test

Latest 5V0-33.19 Dumps | 5V0-33.19 VCE Dumps | 5V0-33.19 Practice Test 5/5


https://www.passapply.com/5v0-33-19.html
https://www.passapply.com/5v0-33-19.html
https://www.passapply.com/5v0-33-19.html
http://www.tcpdf.org
https://www.passapply.com/5v0-33-19.html
https://www.passapply.com/5v0-33-19.html
https://www.passapply.com/5v0-33-19.html

